
KONICHEK       SEMESTER I REVIEW FOR THE FINAL   NAME__________

. Speed depends upon which two quantities? DISTANCE AND TIME
 .Force and acceleration are related by which of Newton's laws?

          2ND LAW

. A feather will drop slower than a steel ball because:

        It won’t unless there is air resistance

 . The unit of force is a: newton

. The heat necessary to raise 1g of any substance 1 degree Celsius is called the substances: specific heat

 . Count Rumford observations during the boring of cannons was:

        heat is a form of energy

 . The force necessary to move a 300kg a distance of 5m would be:

   can’t be deteremined from the information

. A person pushing on a wall is doing no work on the wall because:

       no work is done

.A Newton per square meter is called a:pascal

  .A teeter totter is an example of which class of lever?1st class

. A combination of an incline plane and a cylinder is called screw

  . 40 g of a substance with a specific heat of .4j/gc is heated from 4 to 8 degrees Celsius. The amount of energy needed is? 64J
.Which ONE would not be part of the scientific method?

       Don’t know until we see the choices

  . 400Km equals how many m? 400,000 can’t do it

. Which ONE would be considered a complex machine?bicyles

   Don’t know until we see the choices

  . 4g of ice would require how many joules of heat to get 4 g of water at the same temperature?  16.72J

. According to Einstein all motion is:relative

  . Acceleration is best defined as:change in velocity

. The force which the earth would pull 1 Kg of matter would be?

         9.8N
  . The amount a machine increases a force is:

   Mechanical advantage

. Air resistance is a form of;friction

  . The tendency of matter being lazy was predicted by which of newton's laws?1st law

. As the distance between masses increase the force will:decrease by the inverse square of the distance

  . On the moon if a hammer and a feather are dropped, which would strike first? Hit at the same time

. Any device which makes work easier by changing the direction or the distance through which the force moves is a:machine

  . To make a machine more efficient it must:reduce friction

. If an incline plane is made longer it will:Ma will increase

  . A lever has an effort arm of 60cm and a resistance arm of .3m, the M.a. of this machine would be: ma= 60cm/30cm= 2

. On the time temperature graph when it levels off this indicates:

       a change in state

  . When ice is melting its overall energy content is:constant

. A pond contains less heat than a boiling pot because:it doesn’t

  . The average Ke of any substance is called:temperature

. Since heat is a form of energy which is the most correct unit to use?

  joule

  . Which would show forces in equilibrium?sitting in a chair

  .The scientist would most likely describe a deceleration as:

        negative acceleration

. The person who perfected the steam engine was?james watt

  . The first stroke of an external combustion engine is;intake

. A steam turbine is most like a:water wheel

  . A 300N force moves an object 2m find the power necessary

        can’t do it has no time

. Which is not a simple machine? bicycle

  . To make a wheel and axle require less effort the:wheel should be larger

. A rocket is space applies its retrojets to turn, this is an example of which law of motion?  3rd law

  . A conclusion is based upon  observations and experiment

. When a gas condenses the total amount of energy after the 

condensation will be:the same

  . If the mass of an object is 400Kg on the planet, and we take it 

to the moon which has a gravitational pull 1/6 of the earth.It's mass would be:400Kg

. To increase the M.A. of a lever the fulcrum should be:moved toward the resistance

   . Which is not an example of passive solar heating? Don’t know
 . A hot steel ball is placed into cool water, describe the movement of heat of the system.from hot ball to the water

   . If a machines output is more than its input, then the machine's efficiency is said to be:impossible since can’t get more work out than in

 . The force which is used to operate a machine is called the:effort force

   . Centrifugal force is described by the scientific world as the force caused by:inertia

   . If the power of a machine is to be increased, and the distance and the force remain constant what must be decreased?time

 . A joule per second is known by the name of:watt

   . In a pulley system, the M.A. is about equal to:support ropes

 . A machine uses 60J of work, and puts out 20 joules of work. How efficient is this machine?20/60x100= 30%

   . A can opener is an example of which type of simple machine?2nd class lever

 . During which stroke in a four stroke engine does the spark plug ignite the gas and air?power

   . The diesel engine works on the principle put forth by which scientist?charles law

 . The major problem with steam engines is;large consumes lots of water,and lots of fuel

 . The substance responsible for heat transfer in an air conditioner is:

    freon

  . Refrigeration is unnatural because:violtes entropy

  . A large rock is harder to throw than a small rock, shows which of Newtons laws?   2nd law

. As the distance increases the force between the mass will:decrease by the inverse square of the distance

  .. The Greek idea of heat was:invisible mysterous substance
  . A planet has a radius of 5m. An object is 15m above the surface. The force pulling the object back would be:1/32= 1/9

. The amount any machine will increase a force is called it:MA

 . If the mass increases in a system and the force is kept constant. the acceleration will:decrease

. Gravitational forces depend upon:mass and distance

  . The type of heat transfer through empty space would be  radiation

 . The conservation of energy states:energy cannot be created or destroyed

 . A control is the part of the experiment which:never changes

 . 700Km would equal how many liters?can’t do it
   . If a person has a mass of 50Kg on the earth, and they go to a planet with half the gravity. What would be their mass? 50Kg
   . The amount of heat needed to raise 4g of water one degree would be: 

             4g x 334j/g= 1336J

. The heat of vaporization would best described as:the amt of heat necessary to change 1 g of a liquid to 1g of a gas at the same temp
. A 300N force accelerates a 50Kg mass. What would be its rate of acceleration?300/50= 6m/s2
  .The movement of ocean currents is caused by the heat transfer method of:  convection

 The Fossil fuel which will last the longest because of the vast supply is:  coal

. A 6 Kg ball is thrown upward. The acceleration of gravity pulling on the ball is 9.8m/s/s. What would be the weight of the ball at the top of the toss? 6x9.8= 58.8N..or zero(?)

   . As the Ke of any substance increases what can be said about the heat: has to increase

   . A lever has an effort arm of 50cm and a resistance arm of .5m, what would the M.A of this machine be? 1
. One of the alternative energy sources of the world which may prove to be safe and reliable is:fusion

 . In photovoltaic conversion:covert light to electricity

   . A force of 60 N moves a 12Kg at what acceleration?5m/s2
. An object is falling at a rate of 9.8m/s/s for a time of 5 seconds. What would its velocity be?  9.8x5= 49.0m/s2

   . A steel ball is traveling towards the moon at 2m/s. What rate would a feather half the weight travel towards the moon? 2m/s

   . The major problem with nuclear fusion is:can’t contain it

. The type of pulley system which provides both a M.A. and changes the direction of a force is:

      movable pulley system or a block and tackle

   . If a person were making a mountain road so it would be easy to pedal up with a bike. They would make it with:screw

. The handle bars of a bicycle act as which type of simple machine? Wheel and axle

 . When working out an equation to find the unknown the first indication that the problem is done correctly is:units are correct

. 400 miks equals 80 lps, and 4 lps  equals 1 BB. Then if 40BB exist. How many miks would I have? Delete this
    . Technology is best defined as;application of science to society

 . The device which is used to measure mass in the lab is;balances

    . 40 degrees Celsius would equal how many degrees Kelvin?

              40+273=313K

 . Water freezes at what remperature in kelvin?273K
    . The collision of molecules transferring heat is  known as the heat transfer of:conduction

 . The reason the average surface temperature of the earth is around 22 degrees Celsius is;earth’s atmosphere evens it out

    . If substance X's temperature levels off at 6 degrees Celsius as it goes from a solid to s liquid. It can be said that: the substances melting point

. Convection works on the principle of:density

. The type of Electromagnetic wave which derives from the decay of a neutron is:gamma

. The substance which must be present for microwave to cook food is:  water

. The reason a pencil looks bent when placed in water is because of: refraction
A puddle appears on a highway on a clear day because:light passing through different densities of air

Scientist always assume light travels:straight lines

. Reflections of an object will not occur if: rough irregular surfaces

.The part of the EMS which is responsible for skin cancer would be:ultraviolet

The two major elements which absorb x-ray waves would be: calcium, barium

. Polarized light allows:travels only in one plane

When light is reflected off a surface in a parallel manner the object will appear:shiny

A diffraction grating is:piece of glass or plastic with many parallel slits

The type of radio wave which carries the majority of music is:FM

Tiny bundles of radiant energy are called:photons

A red shirt is red because:red is reflected, all other colors are absorbed

    \

. The line perpendicular to the surface is called the:normal
   . 

A lightning bolt is seen, then the thunder is heard. Give an explanation light is a million times faster than sound

A concave lens is best describes by:thick edges, thin center

.An image which cannot be projected on a surface is:virtual

20. If the object is inside the principal focus on a convex lens would best described as:

      a. smaller, real, upright

      b. larger inverted, virtual

      c. smaller, inverted, virtual

      d. larger, upright, virtual

 FILL IN THE BLANK_ Use the correct word to complete the statement

._____science________is the organized study of events in the universe.

.____newton_______________invented calculus to explain the laws of motion and gravity.

. The ___control___________________is the part of the experiment which is being tested.

. A newton-meter is known as a_____joule__________.

 . A slanted surface used to raise an object is a(n)__incline plane______________

 . Then fixed point of a lever is known as the ______fulcrum___________

 . In the metric system the unit for force is the ____newton_
 . Work is a force moving through a ____distance_______________

 .   . 

  .___radiation_____________is the heat transfer which goes through empty space.

  . The metric system is based upon units of_____10_________.

  . The metric unit for mass is the ______gram__________

  . A____liter______________is the metric unit for volume.

  . The gravitational pull on a mass causes the objects___weight__________.

  . Nuclear___fusion____________is the putting together of smaller nuclei to make larger nuclei, and releasing enormous amounts of energy.

  . Two inclines planes put together which will move through the object is called a ____wedge_________________.

  . ____m.a.__is the amount a machine will increase a force.

  . __geothermal_____is caused from heat coming from the center of the earth to the surface.

  . Heat in the metric system has units of_____joule_____________

  . __conduction______is heat transfer by the collision of particles as they collide with each other.

  . Convection occurs in all ____fluids__which include liquids and gases.

    . As the mass of an object increases the acceleration will___decrease __if the force is kept constant.

  .___inertia____________is the word which is used to describe Newton's first law of motion.

    . To increase the M.A. of a lever the ___effort_________arm must be made longer.

  . . The span of all the light from high to low energy is called the__electromagnetic____spectrum

A pencil looks bent in water because of __refraction____________

All parts of the EMS travel at the speed of___light___________

A __normal___is a line perpendicular to any surface

A An image which cannot be projected is called a ____virtual___________image.

_ultraviolet__light produces Vitamin D in the skin.

Calcium or barium absorbs ___X-Ray____which make it possible to view inside the body

A _snakes___detects its prey using this form of EM wave

All EM wave travel as a _transverse___wave which enable them to go through empty space.

The__wavelength________is the distance from one point of a wave to the same point on the next wave.

The Electromagnetic spectrum is arranged according to the__wavelength ____of the wave.

The point which the beams of parallel light gather at after passing through a convex lens is called the____focal point____

Light travel how many times faster than sound___million_________

A _diffraction_____grating___is many parallel slits in glass of plastic.

A _refracting__telescope only uses lens to gather the light.

___photons___   are tiny bundles of radiant energy.

. Images which can be projected upon a screen are called___real___________images

The longest wavelength of the visible spectrum would be the color___violet_________

An objects appears to be blue because the blue color is being ____reflected_____from the object.

A flat smooth shiny surface is called a __plane____mirror.

The color of the visible spectrum least refracted is___red___

The __retina___is the nerve enriched area in the back of the eye.

.A three dimension picture produced by a laser light is called a___halogram_

When the image appears in back of the retina, the person is said to be ___farsighted______

. When viewing things which are close the lens is___thick___than when viewing things far away.

Nearsightness is corrected by using a __concave__________lens

The image which on the retina is a ___real_________image

The ___reflecting telescope______uses a combination of mirrors and lenses.

When inside the principle focus on a convex lens. The image is upright, virtual and__larger_____

. Light Amplification Stimulated Emission of Radiation has the Acronym called___laser_______________.

. TRUE AND FALSE- If the answer is true write TRUE. If the answer is false correct the capitalized word . If the question is bold don’t worry about it

1. All motion is caused by a force-true

2. Speed involves time and direction-false

3. ohm is the unit for potential difference-false

4. A Pulley is actually a type of lever- true
5. According to Einstein all motion is relative- true

6. Mass and velocity are related in the equation for momentum-true
7. A Vacuum tube is an electronic device.-true

8. A printer or speaker is an example of a computers input equipment-true

9. Heat energy is measured in joules-true

10.The rectifier changes the direct current to alternating current.

11.The conservation of charges states like repel, unlike attract.
12.As the friction increases the mechanical advantage will decrease.-true
13.The units for work is the newton.-false

14.watt is a Nm/s.-true
15.A north pole and south pole of a magnet will attract

16.The weak signal of an antenna goes to the amplifier to strengthen the signal.

17. The lever and incline plane are the only true basic machines. The others are variations of these.- true
18. Old Faithful is an example of geothermal energy-true
19. Nuclear fusion is the hopeful energy source of the future- true
20. Acceleration is velocity per unit time.-true

21. All electromagnetic waves travel 300 BILLION m/s-false
22. The lowest energy EM wave is VISIBLE-false

23.PHOTOTROPISM is the bending of plants toward light- false

24. Refraction occurs when the speed of a wave CHANGES-true

25. A smooth curved mirror is called a PLANE mirror-false

26. A parabolic mirror produces  both a VIRTUAL and real image-true

27. An image in a plane mirror will appear in FRONT of the mirror.-false

28. A curved piece of glass which bends light is a LENS-true

29All electromagnetic waves travel 300 BILLION m/s-true

30. The lowest energy EM wave is VISIBLE-false
31.PHOTOTROPISM is the bending of plants toward light-true
32. Refraction occurs when the speed of a wave CHANGES-true
33. A smooth curved mirror is called a PLANE mirror-false
34. A parabolic mirror produces  both a VIRTUAL and real image-true
35 An image in a plane mirror will appear in FRONT of the mirror.false
36. A curved piece of glass which bends light is a LENS-true

SEMESTER TEST PRACTICE PROBLEM SET

1. A lever has an effort distance of 40cm and a resistance distance of 1m find the M.A (M.A.= ED/RD)

2. An incline plane is 4 feet high and 10 feet long.The effort force is 50N and the resistance force is 80N.Find the actual M.A.(AMA= RF/EF)

3. A force of 600N moves through a distance of 4m. The time necessary is 8 seconds. Find the power. (P=Fxd/T)

4. A car is traveling 88Km/hr it travels 3 hours. How far did it go? (S=d/t)

5. A motorcycle is at a stop light. The stop light turns green and the motorcycle accelerates to the velocity of 4m/s in 5 seconds. Find the acceleration.(A= VF -VI/T )

6. A man is playing pool. The cue ball has a mass of 40g. The eight ball has a mass of 80g.The cue ball strikes the eight ball with a velocity of .2m/s. At what velocity will the eight ball travel away from the cue ball? (M1 V1 =M2 V2 )

7.Two planets are attracting each other. Planet X has a mass 

       5                               8

of 5x10 Kg. Planet Y has a mass of 6x10 Kg. The distance

                           14

between the planets is 3x10  m. Find the force of attraction 

using universal gravitation. F= 6.07x10-11NM2/Kg2(M1 M2 /R2 )

 8. A mass of 50g has a specific heat of .6j/gc. It is heated from 3 C  to 8 C. Find the amount of heat necessary.

H= Mc(Tf -Ti )

9. A wave has a speed of 60m/s and a frequency of 40Hz, find the wavelength.

10. A force of 90N is moved 60m in 18 seconds find the power.


